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The electromotive fdrce of a Daniel cell is
(A) 1.8V B) 120V

(C) 156V ﬁ 1.10V

Craflue Wersasder WerallwsE elens wdliiy
A) 186V (B) 120V
(C) 156V D) 110V

The approximate chemical composition of Duralumin is
(A)  Al=94.5%, Mg =5.5%
(B) Al=95%, Cu=4%, Ni=1%
(C) Al=93%, Cu=4%, Ni=2%, Mg=1%
Al = 95%, Cu = 4%, Mg = 0.5%, Mn = 0.5%

yurrilafien Compmuwrer Geud @eowiy

(A) Al=94.5%, Mg =5.5%

(B) Al=95%, Cu=4%,Ni=1%

(C) Al=93%, Cu=4%, Ni=2%, Mg=1%

(D) Al=95%, Cu=4%, Mg =0.5%, Mn = 0.5%

Fraunhofer’s lines of the solar system are examples of
(A) Band emission spectrum

(B) Line emission spectrum

(C) Continuous emission spectrum

Line absorption spectrum

&Mw Hpwreauie 2 drer LgrarCanur Cam(&6r s (@ 2-STyeRTin?
(A)  uleL 2 flipey Hpwrena

(B) Gar® 2-ipey fipwrene

(©) Qg flpay flpwrene

(D) GCar® eemafiiy fimwrene

ACGS/19
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4. Total no of nucleus in mammalian RBC is
@ 3 ® 2
0 N - D) 1

uneniwaafiies Brss ey Qedvadfid odar o smaldar aarafléans

2ED: |
4) 3 ® 2
© .0 o @ 1

« B, Purple fmg was discovered in August 2017 in
(A) Point calimere

d Western Ghats, India
(C) Andamans
(D) Himalayas

aen 20176 easm Bp seucar i@ sanB g S0 L 52 -
(A Gamgusseny
B) Cupe Apm_i&s wene

(C)  =psLome
(D) @uwreowm

6. Cirrhosis of liver is caused by chronic intake of L
(A) Opium | \a{ Alcohol
(C) Tobacco - (D) Cocaine

s@Srd® sHEsD Crmi Spsancuhpd asoa Qam_ibg 2 Qardraizrd ghubfng?
A euSub ‘ B) osanra
(©) yensWeo - : (D) Canazafian

ACGS/19 4
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Which organelle of the following occurs only in plant cells?
(A) Peroxisome Glyoxysome

(C) Desmosome (D) Ribosome

greuy Qgasaefle L HID @MmEED HiemanmliL] 67g?
(A) QuprsedCamd B) denerwunsealGanid
(C) QLewCGuwrGsmd D) eagCunrCembd

“TNDRF” stands for
(A) TN Disaster Relief Fund
j Tamil Nadu Disaster ReSpbnse Force
(C) TN Drought Relief Force
(D) TN Drought Relief Fund

TNDRF ér efflurésio

&) TN - CuALi By Heuryem H
B)  OPBTE CUALT B UL UL
(©) TN - auprd Byl ueL

D) TN - el & Hesyem HA

An essential oil present in lemon grass can prevent vomiting

J Cltronella (B) Limonene
(C) Capsaicin (D) Piperine

Qevwer glymedley 2_erer cumpbHenws HH&H@D Coeneuwimar eranrblamris GQUmmeT 6Tg)?
(A) S Crr@meveom (B) NCuomesflear
(C) Cslumsflen (D) Quiufien

5 ACGS/19
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10.  What is meant by UMANG™

(D) e-courts

“o D" GThTLig, eTaan?

(A) GQureus Cumer Qawed
B) B osQugss
€) @Hi-efen

D)  @-BHwénprsser

11.  Who was the Chief Minister of Tamilnadu when the second wo;‘ld Tamil conference
was held? |

M.G. Ramachandran

M Annadurai

Bakthavachalam
(D) M. Karunanithi

Gravmaug eos s wipr® peoLGudp Gurg gUlpET T APFH MDEFITS
BEHseu wmi?

(A)  enb.g. pmwahHiyen

(B) =sicwmawngieny

(C) véseussald

D) e sgmarhS

ACGS/19 - 6 | B



12.  Which committee was appointed by the Government of Tamilnadu to deal with

centre-state relations?
(A) Santhanam Committee

Vohra Committee

y Rajamannar Committee

Sarkaria Committee

wsdlw-wrkle 2 peysemer CbUHSS SLONE STFTD SMESSILILL G 6T8)°?
(A)  spgrand G

(B) Geumgm @ w

(C) rprsguweeni G

D) srsriur G

13.  What are the major issues found in Madhya Pradesh?
W Unemployment and Agricultural problems
(B) Health and Hospital
(C) Drainage and cleanliness

(D) Price rise and road condition

wsHw WpGaesdle srarmiiLBb WasHw GyFsmanger ereme?
(A) Cauemeeaumitneareno wHmb edeusmw Sysaamanser
(B) Ié&I_Gb‘I'_F)GDLb LOHMILD Ln@gg;euma;cm

(C) eugsre® @J&Q WLHNID &SSO emenLD

(D) eflena gHmb HMID FTenavsatien Hleane

B 7 ACGS/19
[Turn over .



14, The Blue revolution is being implemented to achieve
(A) Economic prosperity of textile indusﬁry wOrkérs
(B)' Economic prosperit& of construction sector workers
(C) Econbniic prosperity of agricultural.farrners

d Economic prosperity of fisherman and fish farmers

IIBQJ- LS eThs G,r_ry-rré;a;;_'r,‘é.],r_i)a;mss 5@L@@)mu®§,§,u L EDg?

(A) | DL ;;Qﬁrﬂuq Qgrr@s&'@ D ¢irar ng@mnmr’rﬁdﬂm QuImmeTTHY cUeTTESIGETS |
CB) sl @wrer Asmfeile o drar Ogmfemenisaien Qurr@mrrg’,rru eumfréé]é;asﬁes

C). eQeusmur Ggmfleorarisetlen Qurr@m-rrg,rrr,r QUeTTFF&&ETS

D) Benaifr wpmib Bem 9y Qemfleonaraaficr Qummermgry cuaTiéféans

15.  The - under which small affordable deposits are made in the bank

‘accounts of girls, with the benefit of higher rate of interest.
w Sukanya Samriddhi Yojana |

(B) Pradhan Mantri Krishi Sinchayee Yoj'aﬁa

(C) Uijjwala Yojana | N

(D) Pradhan Mantri Jan Dhan Yojana

QUET GYHPSHEEETS DHS Uil HanL &858 v sméﬁd) Pebs élm@ﬂ,rj)@
@aitiL Agres Qsgssib S LsHar OuwT ‘ " |

A) assenwursofd Hoibd

B) JYrsw wiH é]ﬁaﬂ Sangmud Sl td

©) ecgamerfi b | |

O)  Gsw wHHA ger sen HLLwd
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16.

17

Which planet is recognised as “dwarf Planet”?

(A)
B)
©

Mars
Earth
Saturn

Pluto

erhg Camar ‘@erer Slysw’ eranmy imdsflésiuBSng?

(A)
B)

©)
(D)

Q&cueumis
Ll
safl

HeepGm

Who is called as the father of White Revolution in India?

A

(B)

Anand

Shah Mohammad

j Varghese Kurien

M.S. Swaminathan

@QpdHwreler Qeuarrenio Ly Sufer sHs eTar Bi@PEsLILIHLIGUIT WTT?

(A)
(B)
©)
D)

BEHS
QST (LPSLOG)
euden @ flwen

GTLD.6TGN. &HeUMLAIBITSET

ACGS/19

[Turn over



18.  Nague the state which has the high sex ratio?
J‘ Kerala (B) Tamilnadu
(C) Madhyapradesh (D) Maharashtra

@nswmeilen e Quar Lmalanall@sl siflawnns odrer Lrlab 6g ?
(A) Cayenm _ - (B) slpBn®H

(©C)  wsdwul Wrlsswn (D) apryregtg g

19.  Which one of the following is correctly matched?

(A) Arthasastra - Megasthanes
" (B)_ Indica = - Kautilya
' Harshacharita — Bana
(_D) Ratpavali - Chandra Gupta Maurya

EpeumpauaieupmieT aTps ey sflwrs Qunmpd e dreng?

(A) Sfggerdvdrd -  Quadvgeaflen

(B) Qamgsr - Caemgewr

(C) eogragsflgd -  umewrh '

D) Gdrgdamaell -  sBHrElsCwerfiwr

20.  Which one of the following is not correctly matched?

(A) Ayurveda —  Medicine
Dhanurveda - Astrononiy

(C) Gandharvaveda— Music

(D) Shilapaveda —  Architecture

Spseramusunmer gl sflwre QurmssTILLtdamea?

(A)  uiGeugm —  O(BSSIGULD
(B) sapiGeugn —  eumereued

- (0 spsiewGeugr -~ Qs
(D) SaeduGausr —  &ligl &EHeme

ACGSN9 ' 10



21.

22.

Who launched the Tamil weekly of “Dravida Nadu” in 19427

(A) Periyar E.V. Ramasamy

d C.N. Annadurai

(C) M. Karunanidhi

(D) = M.G. Ramachandran

1942 9> e “Srmedi pr()” eranmm SLOD cury Qs BTGSeI wriT?

A)  QuAlwr Fr.Qeu. @gmwsmd
(B) &.eran. .__g:qaim‘;wrrrgja)u
€) . sHaTHS

(D) ew.g). Qumossnyen

The original name of Koon Pandiyan was

M Nedumaran

(B) Nedunkilli
(C) Nedunchezian

(D) Nedunjatayan

. Gaaunaig wefler o asranowmer Gluwir

(A) GOp@wrper
(B) Qp@mderafl
©) OpGERsfwen

(D) Op®HEpsFanLwen

e
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23.  Whpsaid “Parliamentary system gives the Executive an opportunity for Tyranny”?
| H.J. Laski (B) J.8.Mill |
'(C) Spencer ' (D) Ramsay Muir

“LMFEHOEND (penm ﬂrrmrrdil&@ Qa;rr@m@&rreurmél &aﬂuugm@ CUIILIL|SEnET mggras@élg)gj

eremm sadlweui?
(4) HJ onrcvd (B) JS. Bda
(C) ' ev@uensir | (D) gmbGe aph

- 24, Which one of the followmg is NOT an item in the 11':h schedule of the Indian

‘constitution?
" (A) Social forestry (B) Health and sanitation _
(C) Public distribution system ﬁ Prevention of cruelty to animals

Spsaam_cupfler @héw Siréuaentoli e 1leug @l suenemruiled @chauns 558 618 ?
(A)  Fpssstisen (B) 2L pad LOHOILD SETSTLD

(C) Qung SHGLRs apep | (D) Hoig aosuhsons 5oL Qsigd

25.  Judicial system in India is
(A) Independent only
(B) Integrated but not indépendent
(C) Integrated only
Integrated and Independent

BpHu Bisgienn sienwiy

(A)  sspdrwrang w G _

(B) onhdoarhss e ssHATLTEE S wirs)
| ©) oorieacnbsg GO

D) gmmilmeansas wHHID HSHSTLTES

ACGS/19 | S 12 B



26.

217.

28.

Assertion (A) : The Governor shall hold office during the pleasure of the president.

Regson (R) : The Governor of a state shall be appointed by the president of India.
Both (A) and (R) are true and (R) is the correct explanation of (A) '

(B) Both (A) and (R) are true but (R) 18 not a correct explanatmn of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

gapm (A) ! BlqWTES e eli(HUD uer] BLEsBT Ugelluid Fyoum.
aryexrd (R) @ wrble gy erpears guurss goaanr Hubsdont.
(A) (A) wpmp (R) @uewriud #f (R) ereruigy (A)sflsn sifluren eflensswngod

®B) (A vogw (R) @yariio sf (R) erenugy (A)cllew sitwuren Gﬁlcm's&tb e

(©) (A v @Bw M R) suprEnd

- (D) A seum (R) sfhurgn

Who appoints the acting Chief Justice of Supreme Court?

(A)g Chief Justice ) (B) Prime Minister
President (D) Vice President

.55 BHuwenpsdlen ppandls genwemw fHudow wri fuveand Qslflpri?

(A) - seoaw fHLSH ' (B) Ypswi

(C) @Bywrss seweur D) Gywrs s sl

The CAG of India can be removed from the office only in like manner and on like

grounds as
(A), UPSC Chairman
- Supreme Court Judge
(C) Attorney General of India
(D) Speaker of Lok Sabha

@p@m SEEELD a;m&@ an)gjm pailacms .a;;ﬂ&mﬂuﬁ]m ugeﬁ] B&a qpenpullen i CiLren_ser
@égIL Gumaug)

4) wsdw srsl vesflurernt CoramaamugHen genacur

®  ssepBioap fHul

(O  @pdwrefer gamae anpsaiehi

(D) wasareneu sUTBTWLST

13 ACGS/19
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30.

3l1.

32.

* Which one of the following is a-tax revenue for the states in India?

(A) Income Tax (B)g Custom Duties
(C)  Excise Duties Land Revenue

Seneumeuaeupmia ergy @hHw wrhobisgsssTen el amanmi?

(A)  aumwrer eufl SR B) sisoufl

(C) Se0med euil D) 'ﬂa) GU(HEUMILI

In India in which plan poverty a]léviation is adopted as the explicit objective?
(A) IV Five Year Plan QA V Five Year Plan

(C) VI Five Year Plan _ (D) VII Five Year Plan

@sdwreller cugern PlsGlenen @i Gleuefluuem winear Gpnaamna ClamagrL @urr@a‘rng,nr;
Sl erg?

(&) 4d-oug mbe b g.*_._u:. (B) S-aug gis (s HoLo
(C)  B-eug gpg ans HLw D) 7-cug gps YOS HELibd

India’s density of population as per 2011 :ﬁus 1$

(A) 328 per Sq.Km. - 382 per Sq.Km.

(C) 380 per Sq.Km. ' (D) 362 per Sq.Km.
@pdwrelan waadr Agnens Qedleunaig 2011 wasar Ograms SaTS g6 L.
(A) 328 pui=ar @'@ 548 | (B) 382 puirsar ¢p(m &.4.15.
(C) 380 puiger g #.8.08. D) 362 puraer g 5.4.15.

The reason for disinvestment in Central Public Sector Enterprises are
1.. Reducing the Public Debt.

2. Releasing the large amount of public resources locked up in non-strategic"
PSEs, for redeployment in areas that are much higher on social priority.

Select the correct answer using the codes given below :

"(A) 1lonly (B) 2only

Both 1 and 2 only : (D) Neither 1 nor 2
wéHw QurgssiIenD Hneauarmsatisn utigseamer SmbLnt QLOIEISHETET STTaRTHIGET.
1. QUTZIE SLGET T GMDSHD.

2. Qurgissen FAnaabseiid L@ Mo 55 eeisaiu_{Hdrer Gu TeTey GlLimgy
auengdlapa N LWTUN_H&E, 2L LSS, s sifls &@g,rru_l Qpasaﬂmg;gjeum GUMIHS
Liefla @S, uumu@g@;g,@)

@gﬁ] Spealle @b sfunen cilan_ e :

(A) 1wl @b _ _ (B) 2w (b

(C) 1wHmb?2 (D) 1ib e 2ib Biéow

ACGS/19 | 14 | | 8



33.

34.

35.

Who gave a garden party to the delegates attending the Second Congress Session at
Calcutta? :

(A) Lord Mayo ' " (B) Lord Curzon

w Lord Dufferin (D) Lord Macaulay

- s@spgneiid pep GuHp Gy Teg) esmmé]r,rau 2lirelldy a;a);gg Qanan GrfHHsenss

GarlLgde edl(migl Glesrr@\gsg@j wImT? _
(A) wrGur Siyy (B) siaen Gy

(©) l9fer Gy (D) QuwssnGe Gy

Who Led a huge procession against the Simon Commission on 20th October 19287 -
(A). Bhagat Singh |

Lala Lajpat Rai
(C} B.K.Dutt
D Raj Guru

2&CLILT 20, 1928 b oy, e&wen S(paiinE adlrmen g@m WwIGLHD asnrreueug@g)@

 soeewGubn SLSSweulr wri?

A)  uss
- (B) werar g gmi
©) 9.C= 38
D) vl B
December 1912, a bomb was thrown on —— at Chadni Chowk in Delhi.
Lord Harding (B) Lord Curzon
" (C) Lord Morley (D) Lord Minto
1912 webuRed, QLOSG® oder smpSel Qoorsded crenLieuir 5g
Qaug@ar® efeiu g
(A) .gmnr’r@ré: Gy (B) &tgan l;cI]UL; :
(C) el Gy - (D) BearGr Gy

15 - ACGS/19
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36. A shuttle cock used for playing badminton has the shape of the combination of
(A) a hemisphere and a cone

(B) a sphere and a cone
(C) acylinder and a sphere
' frustum of a cone and a hemisphere

E1p&angmib aThs B 2 (Haikismer Gaamssne ¢ Eng upder aigaib daLs@n:
(A) SersCamearnd whmpw by | '
(B) Cfamanb WPHELD FatldL

(C) e (pever wHHL Caranid

D) sb9er QL GEMTLLD WHNID DienysGHTETLD

37." Convert 40024, to base 10 _
(A) 2659, (B) 2634y

40024 sp\'s LGS \q DT CTARRTERING LOM D&
(A) 28659, (B) 2634,
(C) 2514, ' (D) 2544,

38.  The difference between two whole numbers is 72. The ratio of the two numbers is
3:5. What are the two numbers? : :

w 108, 180 B 110,182
€ 114,186 D) 1086, 78

@@ P eTawrsatien aﬁ]g;ﬂu_lrr&m 72. s @ qm&aﬂw cllflgn 3:5 Greuﬂa) apg o

CTRTENG SHTERTS
(A) 108,180 | (B) 110,182
© 114,186 | D) 106,178

ACGS/19 | 16 | B



39.

40.

41.

Find the Range of first 20 natural numbers

A) 18 : A 19

(C) 20 D) 21
s 20 @we crarsaflen aiFs

A 18 (B) 19
€ 20 D) 21

Which of the following is not a measure of dispersion?
(A) Range
(B) Stalndard deviation

Arithmetic mean

(D) Variance

&C1 Qar(Ra&slulLeneusafleh 6Tg) Leue SjeTanay Gerenay?
4) oS5s

) e

C) &L@ &r,rﬁ&fﬂ

D) eewss auiss syrai

280 candidates appeared for an examination of which 252 passed. The failed
percentage is '

(A), 8% (B) 6%

: J 10% (D) 12%

@@ Csielle 280 Cui swpg Csram_suiseafles 252 Cuir Csrédl Quppert erafldr Cgrasl

Quprseuisafien s56i50
A) 8% : i (B) 6%
(C) 10% ' D) 12%

17 ACGS/19
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42,

43.

44,

L

45,

Find the Median of the data
12, 14, 25, 23, 18, 17, 24, 20

A) 24 - - (Bl 23
€ 18 | | o J 19

12, 14, 25, 23, 18, 17, 24, 20 eretrm efeugrseflen GenL_Hlanawamws sramns

) 24 - ~ (B) 23

© 18 | D) 19

Find LCM of 35a%¢?b, 42a°® cb®, 30ac? b° |
(A) 120 a? bl | (B) 210a?b®
(C) 30abe j 210 a® b° ¢*
35a%c%b, 42a° cb?, 30ac? b® B.Qum.L sres '

(A)  120a? b - B) 210425
(C) 30abe ' (D) 21043 %% ¢°

Let A=HCF of (124, 88)
B=HCFof (88,52) . .
Which of the following is true?

A=B - (B) AXB
(C)  A<B | : D) A>B

A=124 Lb,r_hgjleb 88 e L8.Qum.eu

B=88 wHpb 52 e B8.Qum.eu

arafidr Spssar_auphld gy o arewnEb?

(A) A-B - . (®) AxB
€ A<B | (D). A>B

Ramesh and Meena divide a’ sum of Rs. 25,000 in the ratio 3:2 respectively.
If Rs. 5,000 is added to each of their shares. What is the new ratio Meena and
Ramesh’s Share.

&) 4:3 | o 5.

(©) . 3:2 D) 2:3

Guweiguid, Bemmeyd 5. 25,000 g 3:2 erérn Adssded ANsEsE Gl&;rréianmr’r sigen Yng
gelGleummmeurd Fem wmdldd . 5,000 apsel® G&Lueﬂsmmsmrr g,g)@ur@ WBermey&@L,
rGwessHE@GL 2 ater ukidlar yHu ellflgn

A) 4:3 B) 3:4

€ 3:2 | D) 2:3
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46. Find the area of a semicircle whose radius_ 15 28 cm.
(A) 618 cm_2 o . (B) 144 em?
& z2emr (D) 784 cm?

' Gg,m.b 28 Qg.18 &.GE)I_I‘U@{@)UQJI-_'_I_‘&;QGBT VFDUGETE| TS
(A) . 618 Qe.52 _ (B) 144 Qs.5%

©) 1232 Qs | (D) 784Qs8

4T 'The lateral surface area of a cube of side 12 cm is
(A 144em? (B) 196 em?
.mf 576em2 (D) 664 cm?

12 cm UES SieTey QETETL S@EsHIFSHM LSS LIUL
(A) 144 Q5.8 (B) 196 Qs &
(€) . 576Qs.18° (D) 664Qs.&

48. A cone of height 24 em is made up of modeling clay. A child reshapes it in the form'

of a cyhnder of same radius as cone. Find the height of a cylmder

Ay 42cm - _ (B). 48cm -

"_Ms:cm' . .- .y 2lem

asaﬂmm@a;nmr@ Glem_lu_luul_n_ 24 em au_n;r@pmm 63( SalDanLE @@ BWRHEOS cﬂg{(’ég, <2 T(LPETET

I a@mmmm}; wrhHndns aefld a@mmuﬁlm 2 WD SIS,
@) - 42058 .  (B) 48Gsis
© 86ss8 - (D) 21 Qs.8

s - 19 : |  ACGSN9
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49.  Neoprene is a polymer of the following monomer

| (A) Isoprene

A Chloroprene

(C) Isobutane

(D) Isopentane

BCwr.Liflen erenp LUy Gamo, QereEb hs RELIY Cofodag CararLg?
@) mCsrifen |

(B) @ComCyniifier

(C) &Csmay O

D) oCsrQuaGLean

50.  Which one of the following is a main component of fertilizers?
(A) Chlorine |
(B) Hydrogen
(C) Methane

d Ammonia

SpssdmLeuppen aig o gib Sumiés L@ B apsfu Qumme
(A) @(Bcnmﬂén

(B) waptygen

€) BsCgen

D)  =wGwrafwur

ACGS/19 - 20



51.

52,

53.

An element has binding energy 8 eV per nucleon. If it has total binding energy of
128 eV, then no. of nucleons are :

A 8 | q{ 16

© 32 . : - (D) 64

) g,aﬂmg,,é]sm &mwuung}gm 8 eV g é{@]&;&i@@@l&@ Glorgg Geermiumpped 128 eV
GTG!ﬂGD THSMEH a@nasa;@mm&m o GTeman? -

@& 8 | - ® 16
€ 32 | | (D) 64

The mirror use'd in astronomical telescope and search light is

_ (A) Convex mirror

(B) Plane mirror
(C) Cylindrical mirror

ﬁ Parabolic mirror

cumaflich G]grra)aﬁprré;ﬁ WwHMd sehEy edarsGsafle) LW IHLD g
@) @oi g - | |
(B)  swzer oyq

©)  e(memer .

D) upeueeTw g

Within the elastlc limit, stress is dlrectly proportmnal to strain. Who discovered this
law? -

(A) Newton - (B) -.Kelvin

.l Hooke | D) -Soc_ra_tes-

BLA erranas@et em Glurr@aﬂa) GILDL.J@LD SNZHE .:915631 Sfyse Copir eﬁé]g,gg,]m @@g;@m_
@is efHerws seir RSl FFeui wimi?

A Pylier B (B) Gsdeflen

©)  apé . : D) sn&dgiev

21 S ~ ACGSN9
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54.

5.

56.

Jelly fishes does not contain special organ for — and

(A) Nerve and Sense ' _ (B) Muscle and Circulation

(C) Digestion and Circulation M Respiration and Excrétion

Qgdvell  Bemsafler gefllwre  sreriuLrs o piyseTTeu6 LOMHMILD
(A)  mpony HYID 2 awiEs) B) sewsopmb Grés el

(C) Qeflwrend womw @Aréseled (D) sewrs e muy whmitd sfley $66 o Moy

In plants waste product of Cystolith commonly known as
M Calcium carbonate crystals

(B) Calcium oxalate crystals

(C) Stellate calcium oxalate crystals

(D) Cluster crystals

greugtisefld  sfley  Gunmermar  fAvCLrelly eeruueaigy @dieung - GQurgeurs
SienpssIU@L : :
(A)  sredlwbd sriuGer.. Lig.skiser

(B) smeduibd éenGal vy shseT

(€C) @ o &rHAWLD EmGOL Lig SEEET

(D) Qsrggrer vgsRIsE

The chromophore of phytochrome is linked to its polypeptide through
(A) ., Nitrogen atom (B) Phosphorus atom
M Sulphur atom (D) Oxygen atom

auGLngGrmilen @'Gurr@l:drr(:urrr'r agegenl W unIQulien_RLer  argen gpetd
BeremmasLL_(Herargy?

(A)  emlymen =g (B) umevupe Sigmi
©C) spss e D) uselige g

ACGS/19 - 22 ' | | B



87,

58.

59,

60.

~ Whgt is the maximum weight limit allowed for letters and parcels of speed post?

 35kg " (B) 40kg
(C) 30kg (D) 45kg
g1fls Gaeneu sig gb wWHMIWD sl SigodEsOnT L Fs0LEF aanl aTeucueTey?
(A) 35kg (B) 40kg
(C) 30kg (D) 45kg

Solar cells with excellent light absorption, charge - carrier mobility and life times
resulting in high device efficiency use _

(A) Gallium | .- . (B) .Gallium Arsenide

(C) Gallium Arsenide phosphide M Perovskite materials

I@r’ﬂu_J gefl Beansda afls goll 2 digsasd, Wadiams Gerell Guissib wHYL amporaT
Qanain_ oifls smell QuaEsine srssmnw Qurmwer

(A) ' Ga (&refwib) (B) GaAs srdllwib gyfsamar

(C) GaAsPandduwb syfiseer’ unavenu (D) Perovskite QuGrreavenasi.

Which of the following statements is not correct regarding APJ Abdul Kalam?
(A) Hewas born on October 15, 1931

(B) He was honoured with Bharath Ratna in 1997

(C), He became the President of India in July 25, 2002

' He received the Nobel Peace Prize Award in 2005

Spsar_ameuseild 61.19.Cg. dilgidsand updvu spnsafld seuprerns) org ?
(A)  @euir 15 H15GLmur 193168 Qmssmiv |

(B) 19976 Reimée Lngs gHemr L Lib Qsr@ason Ly ‘

(© 25g9a 20026 Gasit @éHw gemHuBuns QungiGupomit

D) 2005 gy @, Siamofssmen Chrue uflassten al(mdanar GLibmT

" In India, how many Parliamentary constituencies, the seventeenth Lok sabha

elections were held?

(A) 543 ' \M 542 -

C€) 545 ' (D) 541

Grdureder ergsanean Limpmenweny Qsu@isefile. vHCanpreaug wasamasstar Csizn
BeoL.Gubmg? .

(A) 543 | - (B) 542

(C) 545 o D) 541

23 | ACGS/N19
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61. Civil Serv1ces Day 1s celebrated on ' . every year.

M April 21 (B) May 21
(C) June21 - (Dy July 21

“@lg L Ien é\eﬁm” gpeulaum(m cum(Lp D Ga;ns&o‘r;nLuu@aE}s'aTg) BTG
(A) gug2l - (B) -G 21
(C) egrean2l _ (D) o®me 21

62 Which is the Government’s apex cultural body in the field of Visual Arts in India?
(A), Sangeet Natak Academy : _

M Lalit Kala Academy .

(C) . Sahitya Academy
(D) Darshan Academy

@ pdureiie ESTT.l'_éﬂ ENMEG Hee QST TITET SFélen o &5 Ssvrré&r_nj S WLiL] 6Tl ? |
A s B8 St '

(B) «dlg seom aiarrl_u_ST

(C) aurra;rﬁ];&;u_l S(STLLA

D) sieger HET_L

63. The Supreme Court verdict which ruled that the basic structure of the Constltutlon
cannot be altered was :

(A) Golaknath case . (B) Shankarl Prasad case

(C) Waman Rao case , Kesavananda Bharath1 case

S rdwie err&mg,ﬁsm S UILIGHL BERLOLIGNLI DD @u_lcorrgj eremm sadlul 2 &5 Blocrp

Siluireng,
(A) CErasps culpss, _ - B) s Srens cuwpse,
©) SumoEn e QuDES (D) Gsseauphsr unyd euwées,

ACGSNS 24 | N B



64.  Which city is called land of the Gazelles?
(A) Ajman city M Abu Dhabi
(C) ~ Dubai city (D) Sharjah city

rengeatlan FaID TaTnepaEsLILIHeIG 6TE?
(A)  imwrer pSID (B) <iysma
(C) gumLpsgd (D) egniiyT HEID

65. When was Chandrayaan-2 launched?

% * July 15 2019

(B) dJuly 132019
(C) July 252019
(D) July 23 2019

SHATMLET-2 Gauliut L BreT org?
A) g9 15,2019

‘(B) g9@«13,2019
(C) g9 25,2019
D) gm9wa 23,2019

66. Pink noise is related to

W Chmate change (B) Air pollution
(C) Water pollution (D) Land pollution

@erEpflouiy 6510 eraGarm(h QFTLiTLjenL_wig)
A) sreblere LTHOHLD (B) smhm wrsun@®
(C) B wrsur® (D) Hle wraur®

B ; ' .25 "ACGS/19
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67. IndJuly 2017, : was launéhed in India.
(A) Demonetisation |
d Goods aﬁd Service Tax
C) | .Insolvency and Bankrupt code
(D) Swachh Bharat Mission

@;_F;é]u.l medla, mPenew 2017-6 - S PsLUBHSSLULLF.
A) vaw §&s W

(B)  UsnLiuser o Cenes aufl

(C) - euiud) Qpmgiy Heva @GHli®

(D) a&srsMyE) ‘I_f)ﬁ_turr AL th

8. “Access, Equity, Qualitf, Affordability and Accbuntabilit.y” — are guiding goals of B
M Draft National Education Policy (2019) o
(B) New _Econqmic Policy (2018) '
(C) Educational .Planning

(D) Indian Universities Act (1904)

“DDLGD, FSHIGULD, BYLD ngﬁ&a;lq.ug DD Gﬁu@ﬁqm;é)m” Gurenpeney
Qararensss su@a'rrl‘_él.b GH&ECamagenns @@sﬂe&lm@. |

A) Csfw s@ed Gamanens axmpey (2019)

(B)I yHw Qumermgry Qereiens (2018)

©) sodmwu HLBPse |

D) @bHu udsmasspsRger s e b (1504)

. ACGS/19 S 2



69.

70,

T1.

" Métcﬁ the following :

Desert Country

(a) - Kalahari L. India

®) Thar 2. South Africa

(c) -Arizona ‘3. Australia

{(d) Great Victoria 4. USA

L@ ® © @
Az 1 4 3

B 1 2 -3 4

© 4 2 3 1

o 4 @ 3 2 1

\Nemeu(peueiouHenp Qurr@ggaa -

| Liteneveuaib BTHSET

(a) seaprf 1.  @gkdwun _

(b) g ' 2. Qgen uNssn

(¢) fiGsrenm ‘ 3. ewdCGreflwr

(d) QuiiLefEGLmiur 4. Quiasn

(2 - O (© {d)

. Ay 2 1. 4 3

B 1 2 3 4

C 4 2 3 1
D 4 3 2 1

What is the ideal temperature requlred for survival of coral reefs?
W 20°Cto21°C (B) 18°Cto 19°C

(C) 21°C to 22°C (D) 22°C to 24°C

LIGUGTL umsm;ﬁa;sh 2 W urpeusnHG 28568 deuiuflena sieray reucuaray?

(A) 20°Qsto21°Qs : ' B) 18°Gsto 19°Gs
(©) 21°Qsto22°Cs (D) 22°Qato 24° Qs

Which of the following place is unsuitable for the generation of tidal or wave energy?

(A) , Gulf of Khambhat - (B) Gulfof Kachch
M Gulf of Mannar (D) -Estuary of Hugli
\Qereumid sTeiedL b @5 HIODS HI_D @@ FEH 2 HLSS Qe Glun@g,gmmm @a@?
| (A)  ambus eueneTELT - B a5 GuEnam (LI
(C)  wenenmi GuepeTEGLT S (D) apvaell Gummgb (p&wo
271 . ACGSN9
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72.  The people at Kurunji worshiped

‘ﬂ | Ceyon : _ ‘ : (B) Moyon’
(C) Vendan ' (D) Korravai
&SHEpd @mm&am — Qsuiugms cuammiidlean
(A) GsGunen (B) wnGuwrer
(C) CGeupgen D). QsmHpedeu

73.  Who was the founder of the Central Hindu College at Banéras?
Annie Bt_asanf. | - |
(B) R.G.Bhandarkar
(© Madam Blavatsky
(D) Col. Oleott

 Lemyeids waHu s sdenfeus .;Elgeﬂu.lmr'r wmi?
&) seefOusea.
(B)I' <. & ueTLniEh.
(C) QCuib Seneulevd

(D) sfaned osrl

74.  Who was the successor of Shivaji? ‘ _
(A) Raja Ram (B) Tars Bai
d Sambhaji =~ (D) Sahu
SHaurgém DS ST gliuani writ?
(A)  Gonrggr pmbd o - ' (B) ST Ll

(©)  smbungd | | D) ogng

ACGS/19 | 28



75.

76.

1s popular dance in Uttar Pradesh and Rajasthan
(A) Odissi o
(B) Manipuri
(C)e Kuchipudi

Kathak
a;@gﬁucgab WwHMD Freevgmen Lnrrﬁlﬁ:réw;etﬂda HapAUDHD Bl —————— (L0,
A) gy .
(B) wesfiyM
© @osm
D) a&ss
The all India Service Act of 1951 specifies that ———— senior posts of All India
services are to be filled in by promotion of officers employed in state services.
® 5

J i
3

© th
© 5t
5
Siflo Qidw ueflsdr LD, 1951 & Uy ——— Sieallanen oo Psdu ueflsafle
© _drer Shnusen wifle uafluiles o diar pss iFisTfaEnss easaiuL Casdn@ib.
1
(A) 7
1
® 3
' 1
© 1
1
) 3

- 29 : ' ACGSN19
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77.  Qualifications for member of parliament is mentioned in the Article ————— of
Indian constitution. '
A  71(3) ‘ (B) 102
(©) 285 S
sy Sspdueewibea 8 —— ummgpoday 2 pulbarmsstar FGHsmans
upBHlwsmELd.
(A) 71(3) B) 102

(C) 285 D) 84

78. In which Year National Mission for Empowerment of Women (NMEW) was
launched? o

A) 2007 (B) 2008
€) 2009 : d 2010

THS eU(HlLd LT SHERES a]ﬁa;rrr;;.b Slefigs erenn CaHwug QLLLI) GgrLmslulLg?
" (A) 2007 - (B)y 2008
(C) 2009 D) 2010

79.  Which one of the following was a Part-D state in the territory of India in 1950?
(A) Cooch-Behar -
) Andaman and Nicobar Islands'
(C) . Saurashtra
(D) Jammu and Kashmir

Spssam_aipPid 19506 @pdw Havuriea ugd - D wrflewrs Qmbss) 6rg?
(A) &&Sani |

B) ypswrer HGCsTUTT Seyser

(C) Qaenyreigggm

D) mbap wHHD Sregdi

ACGS/19 | 30 | B



80..

81,

According to the administrative reforms commission, _the'ﬁnancial year should begin
0 : _

) 1 November T ® 1*duly

(C) ~ 1st September (D) 1stJanuary |
- Piteunss Eiflmes amanusden uilbseyiing B 4@ geuiks e mrer
" (A peuburl : - (B g%l

(C) @suLburil D) gmoaufl 1

With reference to Lok Adaiat, consider the following statements :

1. An award made by a Lok Adalat is deemed to be a decree of a civil court and
no appeal lies against there to before.any Court. .

2. ° Murder cases are not covered under Lok Adalat.
Which of the statements given above is/are correct?
1 only - B) 2only
(C) Both1 and 2 - (D) Neither 1 nor 2.

Cansd zras ug)pS]u.l SLpsaem_ a‘ag)gimm ufSaemes Qsiis :

1. Gors optesdea Sy ef ampadtue Sdodaps §rru|5];o@5 FLOLOTGTS
amsLLdeug L Gp EHoarpmisafian sigean Bg Cud q,om;ouﬁ@ G]&u.Ju.J Guang.

2. Qaree wpsEsd Cons sigrasear aaamaudia augrg).

@& sppsailes argy/ reney &ﬁmnmga@m?

(A 1wl@b .- (B) 2w @b
©  1ovpgb 2 Hdwee . D) 1 wihgb 2 HevLwngy
82. . is the largest naturally occuring souree of commercial energy in India.l
| -\B Coal | - (B) Fire-wood I
(C) Cow dung ’ - (D) Natural Gas
BbHiredds QuihersUns. .g;@a; sarelicy ﬂml_mgm mmﬂmm snipg  erfblummer
' SAGL0.
(A) ‘r_ﬂmé;a;rﬂ - _ - (B) Onewiis sl
(C) vas s Peyser - D) Hupens eumuy

83.

Comgpensatory pension scheme was followed 1n Tamil Nadu from

2004 (B) 2003
(C) 2005 (D) 2006
uiisatliy @uigpShus S b Sulpmmige — — &) @ (mhg GeuauBADng.
(A) 2004 (B) 2003 '
(C) 2005 . : (D) 2006
st - ACGS/9
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-'84.  The National Income in India was first estimated by
(A)  William Digby _ M Dadabhai Naoroji
- (C) Findlay Shiras : - (D) V.K.RV.Rao

QibHwreiler CaHw aumeunenu apgen (ol samad®H G&uhgeufr
(A)  efldedlwd Ssanu ' (B) sgrgrumi ApenGrrad]
©)  SuSenGe Aprad | D) VKRV.gmes

85.  WTO is the continuation of
- (A). International Monetary Fund -

ﬂ GATT

(C) International Bank for reconstruction and Development

(D) Asian Development Bank

WTO —én Qgmir&sl erg?

A varan’ G B Hpeserd

(B) s (GATT)

(©)  udrenm @ averiie wipgid o Sremioii auied)

D)  2fu ez aid

86.  Which Viceroy was mainly responsible for the clashes between the moderates and '
the Extremists? '

(A) Lord Minto ' . : M Lord Curzon
(C)  Lord Morley | (D) Lord Canning

: Lé]g,surré\a;@a@m ﬁaﬁ]uwn@&@as@w @ml_Gu_l 83@§§| Geugg;urr@ QUGN (&S STTERTLONS
B@bs eeudlymi war? _

B)  BeinGLr Gy " (B) sieer Gy

(C) 1omred gy _ _— (D) srefim G

ACGS/19 . . - ‘32 | | B



87.

88.

The aim of the mutiny of 1857 to the proclamation of —————— as the Emperor of

Hindustan.

(B)
©)
(D)

1857 gy yawr(® Yyl Slullen Crréaid

' % Bahadurshah — I

Akbar — II
Bahadurshah — I
Shah Alam —II

GrsLemu(B s Ceuatt(HLD TaTUSTES @(HHSS)-

A)
(B)
©)
D)

@ reRTL_MD LISGITagm
@nerTL_mb SuT
PSVMD USGTTaST

QreRTLMD QplT—},60LD

Who is called the prophet from the south?

(A)

V

©
(D)

Kamarajar
Periyar
Annadurai

Karunanidhi

ararueieny @ngevgrafler Curysrns

Qzndle Caramdlw $iés5M4 eran sempsdsiuBueuT wrr?

A)
(B)
(©)
D)

STONTRIT
G]qrﬂ WIITIT
< GO0 GTOT 11 G| &I]

S(memrmibl

33
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89.  The average of first 100 natural humber is

(C) 49.5 d 50.5
| wse 100 @uid eraTEefen sqnsfl _
(A) 50 . (B) 51

(© 495 | S (D) 505

'90. -Convert 1.45 into 2 form

q .
11 - ' 16
(A) 16 . I
© ¥ ‘ oM B

11 11

1.45 .a -‘:::- culy b LOMHEIS

11

Ay I. 16
(A) m : | K (3) m
© ¥ o B

11 11

91. Find the value of

Y-121+{ 61+ ¥-26+¥1 .
A 5 J -5

© -4 - D) 4

gLy snaars
Y-121+Y-61+V-26 +¥-1

B) 5 B) -5
© -4 D 4

ACGS/19 - | : 34



92.

g3.

30% apples out of 450 are rotten. How many apples are in good condition?

A) 3810

u{ 315
(©)

320
(D) 325

450 gy nBersaie 30% iapd e L g eraflled paver U nlaisallen rarafisams

&) 310
(B) 315
(© 320
@) 825

The monthly i'ncom_e of 6 families are Rs. 3,500, Rs. 2,700, Rs. 3,000, Rs. 2,800,

 Rs. 3,909 and Rs. 2,100. Find the mean income

(4) Rs. 3,500

d Rs. 3,000

(C) Rs. 4,000
(D) Rs. 4,500

6 GRbLRssNeN T aiBamis wpepGu. 3500, 2700, 3000, 2800, 3900 wHpid 2100 arafié |

 aumaumien symsflanws sresr

A . 3,500

B) . 3,000
© @ 4,000

D) 4,500

36 - ACGS/19
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94. A cubical tank can hoid 27,000 litres of water. Find the dimension of its side

(A} 27m (B) 1000 m
\3 3m ' ) D 9m '
R saESGT euigel BrsEgT g ulle Q&rrmmmm 27,000 ALt ereficd é{gGﬁT LGS DleTanald
SITGHT,
(4) 278 ' (B) 10008
(C) 3.8 (D) 945

95.  The value of a machine depreciates by 10% each year. A man pays Rs. 50,000 for the
machine. Find its value after three years

(A) Rs. 35,650 Rs. 36,450
- (C) Rs. 35,450 (D) Rs. 37,450

of Quidrsden sHCurasw wHUY @. 50,000 Qs m@uq @GIJQGLIIT@ Sy 10%
GODHSTE Apemy %am@as@a;@ Geneanr @gen Loéluq aTenen?
(A) m. 35650 ' B) m. 36450
(C) . 35450 - (D) m.37.450

96. Two dice are rolled and the product of the outcomes (ﬁumbers) are found. What is
the probability that the product so found is a prime number?

@ = ® =

5 : 6
© . 3% | N

@ vseLsar @Gy CrysHd o L iGuGurg eLagd s aanaeaflan Qummsan L6
@05 UST cTanenns QuLshaner flspssclaans arexs.

7 : 4
@ - | ®
5 . 6
© = o =
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98.

99.

100.

Simplify :
1 Hectare : 150 m?

J) 200: 3 (B) 2000:3
(C) 20:3 D) 2:3
H(H&GS :

1 QamgLir: 150 152
(A) 200:3 (B) 2000:3
(€ 20:3 ; ' M) 2:3

At simple interest, a-sum becomes 3 times in 20 years. Find the time, In whlch the
sum will be double at the same rate of interest.

(A) 8 year 10 year
(C) 12 year (D) 14 year

safl aul pule m Qsrens 20 aumpLsdle 3 wLkstdng, <Gs Asras iGs el guie
GTEUGUETE| HTSSI @ reT(h DL EISTELD.

(A) 8amLw (B) 10 eumLid

©) 12 aymLid (D) 14 auLid

Vijay invested Rs.10,000 at the rate of 5% simple interest per annum. He received
Rs.11,000 after some years. Find the Number of years.

(A) 3years W 2 years

(C) 4years (D) 1year

efleous (m.10,000 o 5% eut' iy eigsHe eeuliny BlHlwnss Geaisgdnm. agsman ar(Hsaflcd
11,000 epumenws jeui Quimeumri?

A) 3 yarmsailer (B) 2 gyar@aefie

(©) 4 gyam@saie ' D) 1 gyerge

Find the HCF of 225 and 450 by Prime Factorisation,

(A)p 15 B) 540
225 (D) 450
225, 450 @eunin@ ust sryenfll epule 15.QLIT.au. sTems
(A) .15 : (B) 540
(C) 225 (D) 450
37 - ACGS/19
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Read the following instructions carefully before you begin to answer the questions.
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12.

13.

ACGS/19

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.

This Question Booklet contains 100 gquestions. Prior to attempting to answer, the candidates are
requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced.

Answer all questions. All questions carry equal marks. :

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, s_éparately by the Room Invigilat® to mark the answers.

You will also encode your Question Booklet Code with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles &) ,(®). (© and (D) against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, is the correct answer, you have to mark as follows :

®0® 00

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. After the examination is concluded, you must hand over vour Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with you only after the Examination is over.
Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.




